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B F0 ¥F MO C2(2IS)

ol HEAMHA 23 (2HEF) (&)
A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
IR = 388,379 386,313 2,066
F0 WY B S2(2EF) 329,369 329,503 A 134
HEAMHI A 23 (HES) 329,369 329,503 A 134

HEASARA 29 329,369 329,503 A 134
101 @14 dl 20,600 20,600 0
4 D12t ZE2XREES 20,600 20,600 0

OZArEd EHl =2 7,200,000 7,200
0282 S 1,000,000 1,000
OF2=X 8@ FARe 92 7,200,0002 7,200
OFHC2H, SHEY 23 L HEX
5,200,000 5,200
201 2et24d] 71,940 71,940 0
01 At 22l 22,850 22,850 0
OB =+=EH| 14,350
o FUSE XNIMHA 422 S 4,762,000 4,762
oMNRES S 7¢ 6,265,000 6,265
o HASANRA 2 2,323,000& 2,323
o BAL AIEZEE 2HEEHI 1,000,000& 1,000
O= &l 3,500
o8& gRFd 3,000,000 3,000
o A3 =X FRFZ 500,000& 500
[ DR NE= 5,000
o228 A4 FH X 5,000,000& 5,000
02 =224l 44,690 44,690 0
O=323LHA 34,908
o M B22=LHA 33,748,000& 33,748
o AFEFENXNY 2 ¥ AHANBO 2=
1,160,000 1,160
[ DRSal=aa] 1,000,000 1,000
OAl & ZEHl S Xl 5,482
o ALY HAH| 1,000, 000& 1,000
o A€ & IS Xl 4,482,000 4,482
OXHE & B 3,300
o XFE=AXNE RAHI 3,300,000 3,300
03 A2 Z Hl 4,400 4,400 0
OL7E AL =& 1,400,000& 1,400
oSt g &N s F& 3,000,000& 3,000
202 4l 2,539 2,673 A 134
01 = LH YI 2,539 2,673 A 134
OUISANEL 29 1,939,000& 1,939
OA HHEH 2= 600,000& 600
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falgeil
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BAMHIA 2EHFLS) SREED
SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
423,552 421,478 2,074
MY HO T R(F4aH) 375,832 375,958 A 126
MEIA 2EH(F ) 375,832 375,958 A 126
MHAIRAE 29 375,832 375,958 A 126
101 @14 dl 19,778 19,778 0
4 D12t ZE2XREES 19,778 19,778 0
OZArEd EHl =2 7,200,000 7,200
Oz3z2e e2ey 5,789,000& 5,789
OZ22M=HY o2 5,789,000 5,789
OE8z S 1,000, 000& 1,000
201 L2l 71,413 71,413 0
01 At 22l 21,950 21,950 0
O2E==EH| 13,300
o FRUSE N2MH ALF 3,208,000 3,208
oMRES S 7¥ 6,599,000& 6,599
o SMBAERL 29I 3,493,000 3,493
O= &l 5,100
o HE HRFX 4,050,000 4,050
o AtSI=EX FRFZ 1,050, 000& 1,050
[ DR NE= 3,550
o228 A4 FH X 3,550,000 3,550
02 =224l 44,463 44,463 0
O=323LHA 36,163
o M B22=LHA 35,003,000& 35,003
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1,160,000& 1,160
[ DRSaR=aa] 1,000,000& 1,000
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O Xt & B 3,300
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03 A2 Z Hl 5,000 5,000 0
OLA2 AL =& 2,000,000& 2,000
osglo ¥ dA s FILA 2 3,000,000& 3,000
202 04 dl 2,401 2,527 AN 126
01 = LH Yl 2,401 2,527 A 126
O LHAIRL: 29 1,401,000& 1,401
OS4H o2 =2 500,000& 500
OMSIEHEH RF2 500,000& 500
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N = 0l & At & Ml A

20223 = =0k LEEAH UHABE ~ nBS

M EXE
FM: =0 Y HO T2 (EXY)

ol HEMHA 2 (SERH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=Nl 430,401 427,498 2,903
F0 MY B SR2(8XY) 374,601 374,938 A 337
HAYAMHI A Z3(EXH) 374,601 374,938 A 337

ENHARE: 29 374,601 374,938 A 337
101 @14 dl 17,750 14,965 2,785
4 D12t ZE2XREES 17,750 14,965 2,785

OZArEd EHl =2 14,400,000& 14,400
OALE A S 2l & XX II™e gF
2,000,000& 2,000
OEE= 1,350, 000& 1,350
201 L2l 106,400 108,720 A2,320
01 At 22l 30,435 30,435 0
O 2=l 14,435
o =USE XNEMH 2235 S 4,000,000& 4,000
oMRESE S 7¥ 6,650,000 6,650
o EXHHI=XNEUH 24 3,785,000 3,785
O= &l 4,000
o HE HRFX 3,500,000 3,500
o AM3I=EX FRF2 500,000& 500
[ DRNE= 12,000
otl==2F4 2 ==HMAH FHISX
7,000,000 7,000
o228 A4 FUISX 5,000,000& 5,000
02 2324l 71,165 73,485 A 2,320
OZZ23LHA 63,699
0332 41,539,000& 41,539
o DtSot==Hcl¥ HMIIR= 21,000,000& 21,000
o XFE=ENXE 22 L AEXFTOI 2=
1,160,000 1,160
OA & ZEHl S Xl 4,166
o A WY FHAH 1,000,000 1,000
o Al€Z&Hls Xl 3,166,000 3,166
O Xt & B 3,300
o XFE=AXNE RAHI 3,300,000& 3,300
03 A2 Z Hl 4,800 4,800 0
OL7E &AL =& 1,800,000& 1,800
O & A HRFA 3,000,000 3,000
202 04l 1,871 2,673 A 802
01 = LHA YI 1,871 2,673 A 802
OSXNHARE: 29 841,000& 841
OAMEIEHHEE 2= 570,000& 570
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N = 0 &8 AFH Y & A AN
20229 & 20l & LB H HES ~ WES
SN e
M 30 M MO TQ(Mp)

Crolr A AMHIA Y3 (%) CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ELE] 395,985 391,710 4,275
F0l A HO QR (BHREH) 346,125 344,050 2,075

HEAMHIA 23H(HFRH) 346,125 344,050 2,075
BHRTHAIR A 29 346,125 344,050 2,075
101 @121l 12,060 12,060 0
04 JI2ZtH 22 XNEE 12,060 12,060 0
OFAMNEEEY o2 7,200,000 7,200
OHEIALZE AIZ22 S 1,930,000& 1,930
OEXIMXYIIH 2 1,930,000& 1,930
OB&Es S 1,000,000& 1,000
201 et A | 78,735 76,243 2,492
01 AFR22t2l Yl 25,552 23,060 2,492
[ DRIl =l 12,052
oMNREE 5 7¢ 6,000,000 6,000
o FUSE XN2MA A2F & 3,912,000& 3,912
o HAHAIR A 29 2,140,000 2,140
OZ2 Y| 3,500
o HE HRFX 3,000,000 3,000
o Al EX g2F& 500,000& 500
[ DRNE=] 10,000
oti=2&4& &Hl Xt 6,000,000 6,000
odZaE+ A4 HH Xt 4,000,000 4,000
02 332494l 48,383 48,383 0
OZ2Z222Y Al 38,030
0 2=2R2LHA 38,030,000& 38,030
O =l 2,783,000 2,783
O A& EH S XY 5,170
o A WY HAH] 1,000,000& 1,000
o A& &BIS XYl 4,170,000& 4,170
OLFE=SNXE A 2,400,000 2,400
03 At L ] 4,800 4,800 0
OLA2 A FA 1,800,000& 1,800
OO & AL S5 =& 3,000,000 3,000
202 O B 2,070 2,587 NB17
01 2L Y] 2,070 2,587 NB17
OBEIFHANRA 2 1,350,000& 1,350
OHPH SR FA 420,000 420
OANZEHEHE RN 300,000& 300
301 dEtE2XZ 202,260 202,160 100
0BCSHE-0H -EHEESEMN= 200,260 200, 160 100
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N £ 0O & AF & H Al
20229 E0lA LB H BES ~ WES
S 2HH
Ha: x0 ME MO CQ(RHO)
el B AMHIA SBH(EYY) SREED
SA - ZE-B(EA) - NRAY - B S il &t o il 2t
o 309,548 307,924 1,624
F0 MY B SR(F2HY) 264,508 265,084 A576
HEAMHI A 23 (2SHH) 264,508 265,084 A576
FYHARL 29 264,508 265,084 A576
101 @14 dl 11,095 11,095 0
4 D12t ZE2XREES 11,095 11,095 0
OEAMNESZEY =2 S 7,200,000 7,200
OgxI A2 I1Hel 2,895,000& 2,895
O2E= 1,000,000 1,000
201 Lt 2| 69,013 69,049 ~36
01 At 2teltl 23,024 23,060 A 36
[ DRIt =]l 10,524
o FUSE N2MHA 222 3,000,000& 3,000
oMNRES S 7 5,924,000 5,924
o REHHARA 2Y 1,600,000& 1,600
O=&l 3,500
o HAE FRFA 3,000,000& 3,000
o AMt2I=X HRFH 500,000& 500
[ DRIN A= 9,000
oth==2=4& FHl Xt 6,000,000 6,000
oz Es A4 HI Xt 3,000,000& 3,000
02 =224l 41,789 41,789 0
O=323LHA 30,607
o ¥z =2Xxg 23 ¢ 20l 23
,160,000& 1,160
0 23222 HA 29,447,000 29,447
OAZH| ,972,000& 3,972
OAl & ZEHl S Xl 3,910
o EAb LY FHAH ,000,000& 1,000
o A€ &l Xl ,910,000& 2,910
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202 04 dl 2,340 2,880 A 540
01 = LH Yl 2,340 2,880 A 540
OREHARL 29 1,900, 000& 1,900
S SHAHREFA 200,000& 200
OMSIEHEH RF2 240,000& 240
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N & 0l & At

g ~nas

g Al

ool
ol M Hol o)
FMHIAZS ?EA)
SN HH-S(BN) - MBAY - B il HlnE2
328,595 329,565 A970
MY Ho & 280,915 284,685 A3,770
MUlAZ3sHS 280,915 284,685 AN3,770
SHMRA 2 280,915 284,685 AN3,770
101 @14 dl 12,060 12,060 0
04 J12tHZ2 =2 12,060 12,060 0
O At £ 7,200,000 7,200
O3 2 Al IRy = 3,860,000& 3,860
O2EE S 1,000,000 1,000
201 Let24d] 71,173 73,921 A2,748
01 At 22l 22,852 25,600 A2,748
[ DRIt =]l 14,352
o =USE XNMHA 422 S 1,801,000& 1,801
MEES & ¥ 5,419,000 5,419
0 SEHARA 2Y 5,132,000& 5,132
o At ANIEEE 2tE FH| 1,000, 000& 1,000
OPTA NEE SHZ ER2T Ny
1,000,000& 1,000
O= &l 3,500
o HE HRFX 3,000,000 3,000
o At3| X 2RFA 500,000& 500
[ DR NE= 5,000
oZlgEs A4 FHl X 5,000,000& 5,000
02 =224l 43,921 43,921 0
0OZ22R=Y 32,720
03ER= 31,560, 000& 31,560
o X¥FEEXXNE 2F ¥ HHXAU0 22
1,160,000 1,160
OAZH| 2,500,000& 2,500
OANEZEH 5,401
o EAb LY FHAH 1,000, 000& 1,000
o ANEZH 4,401,000 4,401
oxgs 3,300
o XFE=AXNE RAHI 3,300,000 3,300
03 A2 Z Hl 4,400 4,400 0
[ DEAE =) 1,400,000& 1,400
©selo = 3,000,000& 3,000
202 odl 1,532 2,554 A1,022
01 = LH YI 1,532 2,554 A 1,022
[ DR s 2xa 1,532,000& 1,532
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N & o & AF & H Al A
20229 E0lA LB H BES ~ WES
fAMN: ot
FM: =0 HEY HO T2 (HGHH)
¢hel: HEMHIAZSH(EHoHH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Aot 313,511 306,321 7,190
F0 MY B SR2(FH5HH) 268,651 263,661 4,990
HAYMH AZSH(HGIH) 268,651 263,661 4,990
HotHARAR2Y 268,651 263,661 4,990
101 @14 dl 12,577 11,577 1,000
4 D12t ZE2XREES 12,577 11,577 1,000
OZArEd EHl =2 7,200,000 7,200
O3 FA 22 4,377,000 4,377
O2EE S 1,000,000 1,000
201 Let24d] 66,814 63,130 3,684
01 At 2teltl 23,654 20,970 2,684
OZEt==EH| 15,154
oMRES S 7¥ 10,000, 000& 10,000
o HotHAIRA 29 1,154,000 1,154
o BAL NEEE 2tE FH 1,000, 000& 1,000
o BtZZ otdGt+ /Al S 3,000,000& 3,000
O= &l 3,000
o HE HRFX 2,500,000& 2,500
o AtSI=EX FRFZ 500,000& 500
[ DR NE= 5,500
o Xz 5,500,000& 5,500
02 =224l 38,960 37,960 1,000
OZZT22LHA 28, 160
0 BBRIUMA 27,000,000% 27,000
OXBHYSNINY 2Y L AN 23
1,160,000& 1,160
[ DRSaR=aa] 1,500,000& 1,500
OAl & ZEHl S Xl 6,000
o FAb el HAH 1,000, 000& 1,000
o A€ &l Xl 1,000,000& 1,000
o H25E2Y MHEL Y JIEEBE 2
4,000,000& 4,000
OXHE & B 3,300
o XFE=AXNE RAHI 3,300,000 3,300
03 A2 Z Hl 4,200 4,200 0
OL7E AL =& 1,200,000& 1,200
Ogglo g A s F& 3,000,000& 3,000
202 4l 1,620 2,314 A 694
01 = LH YI 1,620 2,314 A 694
OZEolHARE: 29 989,000 989
OE5IY S R=A 261,000& 261

_16_




SN Hote
Hu: Fo M Mo TQ(He)
Chelt BEAHIAYSH(HEH0) (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OA HHEH R 370,000& 370
301 LA S 135,640 135,640 0
05 8% -0 -tHESE43 133,640 133,640 0
OJle=¢ 300,000 x28H x12& 100,800
O3 300,000& 28 x200% 16,800
Oz2 &+ 20,0003 x28H x 123 +23| 13,440
Otta =g 25,0003 52 x23| 2,600
09 HALAHIX &S 2,000 2,000 0
OFQ N BSHA(AZLR)HAL B4
2,000,000& 2,000
401 Al HIZ 201 Y] 50,000 50,000 0
01 A& HI 50,000 50,000 0
OME0IAKe 50,000,000& 50,000
405 Xt&tE SHI 2,000 1,000 1,000
01 AL EFH S 2,000 1,000 1,000
OAMEH HS ¢ 1,000, 000& 1,000
OX2==E HIE 728 1,000, 000& 1,000
HY2AZH (HotH) 44,860 42,660 2,200
Jl2ddl(Hs6tdH) 44,860 42,660 2,200
Jl2dyl(#atH) 44,860 42,660 2,200
201 LB-2EH| 1,860 1,860 0
01 At 22l 1,860 1,860 0
OBt~ 1,860
o MIIGMAA =2 60,000& »23| 120
o RelAHEA 2eltl 145,000& 12 1,740
202 o4dl 32,400 30,240 2,160
02 X 32,400 30,240 2,160
O A0 180,000& 15 »12& 32,400
203 ¥ S =&l 10,600 10,560 40
01 JI122E 2= 7,000 7,000 0
OEotH& 7,000,000& 7,000
02 Ity =2 600 560 40
O&5H 40,000& x15H 600
04 FNSEYE=LH 3,000 3,000 0
O&otdH 250,000& »12& 3,000




N & o & AF & H Al A
20229 E0lA LB H BES ~ WES
SN geo
M Fo #E MO TQ(MHp)
¢hel: HEMHAYSH(LEH) (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
H449d 338,082 333,719 4,363
F0 WY B SR2(49dH) 292,602 291,079 1,523
HYMU AL (HEH) 292,602 291,079 1,523
HEHARA 29 292,602 291,079 1,523
101 @14 dl 11,500 11,500 0
4 D12t ZE2XREES 11,500 11,500 0
OFASATY =Y 7,200,000 7,200
OB SXMYI L ABAHL ARY
3,300,000 3,300
OE&z S 1,000, 000& 1,000
201 L2l 78,552 76,335 2,217
01 At 22l 22,547 20,330 2,217
O 2=l 10,047
o =USE XNEMH 228 5 2,100,000& 2,100
oMRESE S 7¥ 4,947,000 4,947
o HEBARA 29 1,500, 000& 1,500
o HEEEEZE M% 1,500, 000& 1,500
O=&l 3,500
o A FRFA 3,000,000& 3,000
o AtRI=X HRFH 500,000& 500
[ DN A= 9,000
ol==2=4 & =ZHH HFHISX
6,000,000& 6,000
odaE2&Es A4 Ul X 3,000,000& 3,000
02 =24l 51,805 51,805 0
O=322<LHA 44,020
o B32=aXAHA 42,860,000 42,860
o XFE=ENXE 22 L AEXFTOI 2=
1,160,000 1,160
OA =l 1,000, 000& 1,000
OAN & EHl =Xl 3,485
o BAb LHel¥ FHAH 1,000, 000& 1,000
o Al & HIKR Xt 2,485,000 2,485
OXHE & | 3,300
o XFE=AXNEYE KA 3,300,000& 3,300
03 &Ar2 I 4,200 4,200 0
OLA2 AL =& 1,200,000 1,200
OO & A 5 FH 3,000,000& 3,000
202 oddl 1,620 2,314 A 694
01 = LH o4 1l 1,620 2,314 A 694
OHEBARL 29 1,250,000 1,250
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A & 0l & A & F Al
20229 &= =0lat LBl erd
=M 370
HE: Fo #E Ho £
¢el: HEMHAYIH(SPH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=7 451,743 427,558 24,185
=2 Y Ho &2 399,683 379,898 19,785
HYMH AL (S PH) 399,683 379,898 19,785
STHASRA2Y 399,683 379,898 19,785
101 @14 dl 20,100 15,400 4,700
4 D12t ZE2XREES 20,100 15,400 4,700
OZ A ZHl 7,200,000 7,200
OZZsZFFL 7,200,000& 7,200
O=Xg 2833 4,200,000 4,200
OEE=E S 1,500, 000& 1,500
201 L2l 99,265 88,508 10,757
01 At 22l 28,464 25,707 2,757
O2E==EH| 13,306
o FEUSE XN=2M = 3,900,000& 3,900
oMRES S 3,107,000& 3,107
0 STHEHARL 29 2,349,000 2,349
o MEA OIH 3,950,000& 3,950
O=El 5,158
o HAE HR=F 3,458,000 3,458
o &= 2 A 1,200,000 1,200
o A3 =X FRFET 500,000& 500
ogxzs 10,000
o2dgE=s A4 FHl 2X
1,000,000& = 10CH 10,000
02 =24l 58,001 58,001 0
O=323LHA 48,201
02222 ¥ 48,201,000& 48,201
OA=H| 1,829,000 1,829
OA&EHl =Xl 4,271
o AL LHelY FHAH 1,000,000& 1,000
o A& Z&Hls Xl 3,271,000& 3,271
O Xt & | 1,500
o Xt ety (H 1,500, 000& 1,500
OXEE=SNRE 2,200,000 2,200
03 A2 Z HI 12,800 4,800 8,000
OLn=2 AL F 1,800,000& 1,800
ogigle g #MA 3,000,000& 3,000
O=79% ¢d3= A N E A
8,000,000& 8,000
202 odl 2,688 3,360 ABT2
01 = LH o4 1l 2,688 3,360 ABT2
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=M 370
HE: Fo #E Ho £
SRl BIMNHIAYSHSTO) CERED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
O2FRHAIRA 29 2,118,000 2,118
O271H SHUHALRFX 300,000& 300
OMSSHEHE 2F&X 270,000 270
301 et A= 223,630 221,630 2,000
05 S&E -0 -EHEESEM= 219,630 219,630 0
Ol 300,000 x46H x12& 165,600
O4N 23 300, 000% *46H *200% 27,600
O3 o FA G 20,0003 x46H x 12& *23] 22,080
Ot =% 50,000 »87H 4,350
09 SHAIAHI X & 2 4,000 2,000 2,000
O271H HE=SXHE HAF HEA
2,000,000& 2,000
OFUY VUBAH(HZLS)HAT 24
2,000,000& 2,000
401 AlEHIZ 2 0HY| 50,000 50,000 0
01 Al&H| 50,000 50,000 0
OMEDKA L 50,000,000 50,000
405 KHoAHFE S HI 4,000 1,000 3,000
01 XA 2B F S| 4,000 1,000 3,000
OAMBA L ANHA HE 7 4,000,000& 4,000
HE2AAH (2 RH) 52,060 47,660 4,400
Jl23dl(239) 52,060 47,660 4,400
Jl2dd(229) 52,060 47,660 4,400
201 et 9| 1,860 1,860 0
01 AL 2t 2] H| 1,860 1,860 0
Ot 2Y| 1,860
o MIIGHHZAA =42 60,000& *23] 120
o Ro&EHIES 22| 145,000& »12& 1,740
202 044l 38,880 34,560 4,320
02 NI 38,880 34,560 4,320
O XY 180,000 18 x12& 38,880
203 € R F & 11,320 11,240 80
01 JI22HYRFAH| 7,000 7,000 0
O2HE 7,000,000 7,000
02 AJAJMALSE 2 =R H| 720 640 80
O=2+1H 40,000 x18H 720
04 EASHEIRFAH| 3,600 3,600 0
O=2+7H 300,000& x12& 3,600
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N & o & AF & H Al A
20229 E0lA LB H BES ~ WES
SN PAS
M 3o #E MO TQ(AME)

ol HEAMHA 2 (HAS) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
EERAE=S 418,938 420,765 21,827
F0 WY B SR(HAS) 355,908 360,575 A4,667

HAEAMHI A 23 (FMS) 355,908 360,575 A4 ,667
ZUSARA 29 355,908 360,575 A4 ,667
101 @14 dl 12,420 12,420 0
4 D12t ZE2XREES 12,420 12,420 0
OEAMNSZEH =2 7,200,000 7,200
OA0lE2 FH & gXMedixel o2
4,220,000 4,220
OE&z S 1,000, 000& 1,000
201 L2l 68,782 72,585 A 3,803
01 At 22l 28,637 32,440 A 3,803
O 2=l 20,137
o FRUSE XNEMH 2238 S 5,744,000& 5,744
oMRESE S 7¥ 7,913,000 7,913
o BUuSAEL 29Y 5,780,000 5,780
o BAL NEEE 2tE FH 700,000& 700
O=&tl 3,500
o8 gfF2 3,000,000& 3,000
o AtRI=X HRFH 500,000& 500
[ DN A= 5,000
o2daE&=s A4 Ul ¥X 500,000 1004 5,000
02 =24l 34,945 34,945 0
O=323LHA 27,548
o0 SARAL2YE 22,878,000 22,878
o XA 0l (SKEHSB) 2=
15,000 »3CH = 1201 & 540
o ¥EHEXNXNS(MIIX BEEZ) 900,000 900
o XFEEEXNNS(HIIX NHSIHA)
130,000& 130
o RRALZI| KRAE =l 3,100,000& 3,100
OA=Hl 2,620,000 2,620
OAN&EHl S Xl 2,677
o BAb UHelY FHAH 1,000, 000& 1,000
o Al ZHlI KXt 1,677,000& 1,677
O Xt & | 2,100
o XFE=EAXNEYE MIIZ 150,000 x124 & 1,800
o XFE=AXNE RAHI 300,000 300
03 A2 S HI 5,200 5,200 0
OLA2 AL =& 2,200,000& 2,200
O3t g A 29 3,000,000& 3,000
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SAH-EB .S (3H) - HEAY - BE2 il HDS2
202 (4] 3,456 4,320 N 864
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O3 &AE 20,0003 *45H x 128 x23| 21,600
OBH&E Y 50,000& =153 7,650
09 HALAHI X3 2 2,000 2,000 0
OO0 StSAH(HXRER2) AT B4
2,000,000& 2,000
401 AIEHIL 201 50,000 50,000 0
01 A& bl 50,000 50,000 0
OMEINIAK 50,000,000& 50,000
405 XHoHF SHI 1,000 1,000 0
01 At = S F SHI 1,000 1,000 0
OAIR24 HE 2 1,000,000& 1,000
HEMSHAY (FASE) 63,030 60, 190 2,840
23l (das) 63,030 60, 190 2,840
Jlgdd(das) 63,030 60, 190 2,840
201 et A | 5,590 5,590 0
01 AFR2 22l Yl 5,590 5,590 0
Oet+EH| 5,590
o RolZHlEd &2yl 150,000& = 12& 1,800
o AYAE SEHLEH 500, 000& =23l 1,000
o MIIHHMBA =2 150, 000& 150
o s&)| A2UY S 220,000& x12& 2,640
202 04 b 45,360 43,200 2,160
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O HHYI 180,000& x21H x12& 45,360
203 € R =&lY| 12,080 11,400 680
01 J|22I PR =&Y 7,000 7,000 0
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02 RN R = XY 880 800 80
[ PE=R =S 40,000& x22H 880
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N = 0l & At & Ml A
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25 DS
= 3l
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M =0 Y HO S2(WES)
¢el: HEMHAYSH(RES) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ME-=F= 455,661 451,109 4,552
F0 WY B SR2(UES) 393,525 393,333 192
HYMHAZS(RES) 393,525 393,333 192
DESARL 29 393,525 393,333 192
101 @14 dl 14,300 14,300 0
4 D12t ZE2XREES 14,300 14,300 0
OZArEd EHl =2 7,200,000 7,200
O2&8dsa & HA 2 3,600,000 3,600
OA0l&E=2 Fdl & dXXdIIxMe o2
2,500,000& 2,500
OEExs S 1,000,000 1,000
201 LBr2 Y| 63,873 63,873 0
01 At 22l 33,580 33,580 0
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